ST ATTfoTh $1&1fOrh Ufas T STIgHe TR
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9.2

9.3

9.4
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o7 — 100

I T SRY e foTgTemedt 3iTed.

AR YU 50 TR AfTaRS 31Ted. Tedieh 3Fefeh IRIRT QI 0T 3ATe.

T FATAT AR GATT Icax FAel! JMTed. TTUhT 1 Il IR shHieh IaRUTeh BIRIThd hRIaT,
ARSI Blos febar e TS FieTue aToRTaT.

Tehal TG dhetel IXIR WIS JUIR ATE!, T hed JURI SR Tg.

TepT F9Tel QePTUSTT ST TIeT BITTehel el Tl U9 STUTAel] STIUIR ATEl

ISR ferfguarl are geaedt 3aT.

| lLEgfis 2. AR 3.?1.% 4. rretrcaTee Heft
Sar: 1.0 2.0 3.0 4.0
ETSH T BIVTR TR ATel! Q&I eTell. ol fiior T,

fefifeeg o7 aeadt e AT,

dIdTNUT [Atmosphere] IRGIEEY [Lithosphere]

STAATINUT [Hydrosphere]
R 3MMci it TR T M.
Identify the shaded region in the diagram.
1. SiterAgd! [Biom] 2. URERAT [Ecosystem] 3. GATERUT [Environment] 4. SiTaTeRUT [Biosphere]
TfaROT S T NG ?

Identify Biotic component of environment.

1. 9roft [Water] 2. 3HIET [Amoebal] 3. 5aTeg! [Volcano] 4. 9y [Earthquake]
Gefiel faem o ary geffadra 2

Which gas is represented by following statements.

i) =} 91O T 31T, [| am a part of water.]

ii) et IRR ot TSt are amR aea. [our body consumes me to produce energy]

1.CO, 2.H, 3.0, 4.N,

T cTeh! PIUTCT A& Hsiiard ATer 2

Which of the following is not a charecteristic of living things.
1.491@ [Growth] 2. DT [Responsiveness to stimuli]

3. 99l =T [Cellular structure] 4. a¥ieT Ul Uapgl ATET [None of these]

(1)
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9.5  Qlciicddt Hiurar uioft gegefi e SRS o1 ?
Which of the following animal is vertebrate as well as viviparous
1. 3% [Cockroach] 2. 34T [Ameoba] 3.3 [Kangaroo] 4. fiHuft [Sparrow]

.6  Iclierde! DIvRT aAI T Feo)aT SATIHN ATel ?
Which plant does not have same type of root system as of the remaining?
1.7 [Wheat] 2. 9o [Bajral 3.7SR [Carrot] 4.9 [Coconut]

9.7 JRIT AU g YTO0ITET —— —— —— — T G 3.

Melting point of anice and ---------- of water are same.
1. Scher I [Boiling point] 2.713U a@ [Freezing point]

3. e fdg [Condensation point] 4. T 7 [All of the above]
.8 el fSetea oiF femiase g ugref afiew.

Identify the substance from the description of following three statements.
i) TS teta I [It get sublimated]

if) AT SURANT e AT INTAT STARRITS! I, [Used for treatment of goitre]

ii) AT R T FUT HUTd 3R, [ltis solid at normal conditions]

1. 3N [lodine] 2.31E [Iron] 3.34 [Milk] 4. 7=f313r [Magnesium]
9.9  Gleiicdd! HIu ORI STqedT dRT ERlfer Hed aTaRdrd ?

Metal strings used in voilin due to following properties of it.
1. TTGHICT 30T =T [Sonority and Ductility]

2. ATCHICT SOT g&f=1raT [Sonority and Malleability]

3. TIAT SMIOT gt [Ductility and Malleability]

4. I ATIOT ISUIAT argahal [Malleability and Thermal conductivity]
010 -—————- RERINEAS I

--------------- is a natural fibre

1. RIS [Nylon] 2. efH [Synthetic silk] 3. %99 [Silk] 4. Tghferap [Acrelic]
9. 11 9 SRS 0T QU 3T AIGT ERUM qiehr ATes — ——— gl == ST .

----------- happens due to natural causes as well as mining and construction of big dams.

1. 9X [Floods] 2. ‘{cﬁq [Earthquake] 3. 5dTcd 5@ [Volcanoe] 4,915 [Cyclones]
U012 QAT ATERME ST STITO7 T8 Aol IR HHIUT 318 TR AT JRET FHIOM — - ———— g1 Tcad st ?

Shyam has Bajra and Wheat sufficientin his diet he will have sufficient supply of -------------

1. ®aigd [Carbohydrtes] 2. WM [Protiens] 3.3t [Minerals] 4. Sfiaecd [Vitamins]
.13 ghRI SIS SNl

Identify the incorrect pair.
1. 31" eI —_Ia31ESuu [Vitamin A- Night blindness]

2. ‘g9’ Sfiaaa-aRea™ [Vitamin B,, - Beriberi]

3. ‘@’ Sfta-I@—deg! [Vitamin C - Scurvy]

4. ‘8’ Sfiad-gegd [Vitamin D - Rickets]

9. 14 A 91T AT - ————— — SNTHRTAT S,
Human vertebral column have ------------ shape.
1. 9% [Straight] 2. TSR [Linear] 3.7MelldR [Circular] 4.“S” 3MhR [“S” shape]

(D)
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.15 el v faem Heifere gufF gaffaa ?

Which of the following statement describe melanin.
i) ST caerl JTfrTet fhRUTTURI =0T 9aTd [Protect our skin from Ultraviolet rays]

ii)?r cFamIefHe eI [Presentin skin cells] iii)ﬁm ATl ¥ SRIAaTd [Determines colour of our hair.]
1. (i) 3mfor (i) [i andiionly] 2. (ii) 3mfor (iii) [ii and i only]
3.%ad (ii) [onlyii] 4.(i), (ii) =mfor (iii) [i, ii andiii]

U.16 Tellelidh! DU ISR SATQIerd Teital e 2

Identify oscillatory motion among following.
) AT §leAe [Pendulum] if) J&TTe! URg [Wings of bird] iii) XTI YTedUIT [Merry go round]

1. %erd (i) 3TfoT (i) [iandiionly] 2. % (ii) 3mfor (iii) [ii and i only]
3. e (i) 3for (i) [iandiiionly] 4. (i), (ii) 3mfor (iii) [i , ii andiiii]
¥.17 M 1215 iR 120 fArfreid uR axar oo 9319 &7 6 5. 5. 3R 1 IrITd IR dhRa o) I O g1 ———

Ram travels distance of 12 kmin 120 minutes and Shyam travels 6 km distance in 1 hr. then speed of Ramis -
1. STAYET ST [Greaterthan Shyam] 2. 9Ty Y [Lesserthan Shyam]

3. 99T Vg [Equal to Shyam] 4. |RTAT JUTR AATEY [Can not be said]
7.18 ISR 3TThciTa PRI o A 93ty frrare.

s Observe the diagram alongside to find the correct option.
[spring] 1. TR DRIRT 3Retel THeasdl [Gravitational force acting on the object]

5 fobd @GSl MAT 9 7wy gor [Weight of the object]
[5 kg Iron ball] )

3.WW[Magnetic Force] 4.19 23318 [1and 2 both]
ASTRIST SNl “31” igard umfl 3R G §” HisATd ARGS 3R,
3 9 69 N I N S ¢ ’ IS SHATIN —————
oA . Qe TSI o SR ARG 3R TR 37 g TS SHeAvATT

qrofl [water] @Rgs [iron] N the above figure containerAcontains water and B contains Iron. Both,
containers have equal weights. Then to push container A ------------

1. ‘9 YISINT ShTugTUE ST sl eIRle. [requires greater force than to push B]
2.9’ VTSI SHATITIE FHH! g1 ARIS. [requires lesser force than to push B]

9. 19

3.9’ AT @Pheludided Sl dRldl. [requires equal force as to push B]
4. T AUIR ATEY. [can not be said]
T.20 EROTARIA STeffaadd haFe] PIOThIl Sord HUTCR g ?

Water turbine system on dam involves transformation of energy from
1. R T Sootdl TSt oot [Potential to kinetic] 2. 7ol ot RISt Sootd [Kinetic to potential]
3. 7TcfIST Sotdl faegd Soid [Kineticto eletrical] 4. 1 3701 3GgIa! [1.and 3 Both]

.21 ARSIl gl —————

Solar energy is ------------
1. 39RYTRe [Nonconventional] 2. &41d [Green] 3. 378 [Renewable] 4.a¥let W [All of the above]

7.22 A7 Al Wietlerdd! Pivr faem sRisk 3mmg ?

Which of the following statement is true for seesaw?

1.9fgex WEﬁWGTI%[It is lever of the first order] 2.@%6’\’%&1@[“ is lever of the second order]
3. forA=aT MRl R 3T1R [Itis lever of the third order] 4. PIUAITE! YehRe! ok A& [Itis not a type of lever]

()
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9.23

9.24

9.25

9.26

9.27

9.28

9.29

9. 30

Sound does not propagate through -----------

1. %1 [Solid] 2.5d [Liquid] 3.9 [Gas] 4. f3afa qasst [Vacuum]
Qlefteteh! PIvrT fIem aRIeR 31Ted.

Which of the following statementis correct.

1. Tp1T STl &1 STARUTRE ol 3MTR. [Light energy is nonconventional energy]
2. epTel BT aid diehdiq STTes erehdll. [Light travels through vacuum]
3. Yeh1eT URe5 NN JaRT e, [Light travels in straightline] 4. ot @4 [All of the above]

TeRTIT AR N FATETe A SUIS ———————— 3R,

Simple application of straight line propagation of light is ------------

1. 19t [Shadow] 2. aIfesg UfHTEeD [Pin hole camera]
3.1923Fel [1 &2 Both] 4. 9714 ATTEY [None of the above]
PIUTT TSI TIfeTa ARG & anerett ?

Who discovered vaccines againt polio?
1. 514 HTed [Jonas Salk] 2.Tsd8 SR [Edward Jenner]

3. @éﬂ U1 [Louis Pasteur] 4.3 8l [Stephen Hawking]

1497 2018 RIoft DIvrT URIgY HifcrpeaTsTa e et ?

Which famous physicist has died on 14 March 20187
1. 81 g¥ifde R [Dr. Hargobind Khurana] 2. e gifd T [Stephen Hawking]

3. foeay 91etT [William Charles] 4. fFT 9¢R [Menas Kafator]
TTCRATT F&TIUT pIUTe fSepTuNTET et ?

Mangalyaan was launched from

1. ISRO Satellite Centre 2. Satish Dhawan Space Centre
3. Vikram Sarabhai Space Centre 4. Space Application Centre
STt e ee TGHUT ehRUIIRT T <hIUT ?

The largest source of pollution in the world is ---
1. qUHTETe o fdhed=121eh [herbicides and insecticides]

2. Tqg=Iferd TATGR TR USUIRT &R [Automobile exhausts]
3. |reuTvil 4 SRl [Sewage and garbage]

4. 3ftenfiies PRt [Industrial effluents]

A T —————- 7 feasft HATORT el ST,

Ozone Day is observed on -------
1.59CeR [5" September] 2. 16 <R [16" September]  3.557 [5" June] 4.21H [21"March]

ForQ.31to33

9.31

9.32

9.33

T A HUMR Yg 3H[oodT.
Find an odd man out.

56 48 52 72
1.990 2.872 3.756 4.630

1. 2 Lo 3. 4.

(4)
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9.34

9. 35

IO T IR 8 fommft Hiedris @ dRd FHH Al g Tdd 8 SBTHe Al gae TR el T
AR et fovelt aret 2

Rajesh cut a wire 8 times and made pieces of equal length. If each piece is of 8 decameter, find the
length of the wire?
1.720m 2.640m 3.72m 4.64m

Udh YSUTd Q¥ ATl 6]%[. IITPT EIEFT ax gq ij 3:00 Il RIER ATl TsATodld ?:I'RII_CFIRBQT 7:20 9dro1d
P Job feqeT ?

Awall watch goes late by 6 minutes every hour. Ifitis adjusted at 3:00 pm, what time will it show
at7:20 pm.
1.7:46 pm 2.6:54 am 3.6:56 pm 4.6:54 pm

ForQ.36to 37

T $hH SN Jeiel AT YT 2T,

Observe the number sequence and find the correct number that will complete the sequence.

15 3 5 4 27
g. 36 6 ] 3 EANCI] 4 I 6
A7 22 21
1. 6 2.5 3. 6 4. 5
937 11,7,16,17,21,?
1.17 2.27 3.22 4.30
ForQ.38 & 39
ABCDE FGHIJ KLMNO PQRST UVWXY
Tetlel 93T UfdedT Uqre SH=T Uqrell ST e 3ATg, TRrer for=aT g <itea yareft Seer 3fg. At
12 U5 feetea wa Ay 3 Mol
Observe the relation between the first and the second term and find the fourth term from the given
alternatives.
.38 B:D:C:?
1.G 2.A 3.1 4.H
9. 39 123:6::230:7
1.6 2.50 3.4 4.0
T.40 455 ATSFAT Ul AT Sletehgd 177 1 g Ioidihgd 123 &7 Terea Heflel d $iTe el g d IdRd
Fd FATS TS 31T, TR IS TR0 371 fhe ?
In aline of trees all trees between the 177" tree from left & 123" tree from right are of Mango and other
are Banyan trees. Then how many Banyan trees are there?
1.300 2.299 3.298 4.155
T.41 201639 WTRGT AHART 3¥eT TR 2016 IuT Feard HIvred e Siel RIeT ?
Indipendence day of year 2016 was on Monday. What was the first day of year 20167
1. AR [Friday] 2. 9F@R [Saturday]  3.7TdR [Thursday] 4.9499R [Wednesday]
T.42 U9 3Tl RN Ui 3T 31T,
Find the correct mirrorimage of the figure given from the given alternatives.
33d ; 1.l hee 2.1 €Y 3. e 4.[234

~
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U.43  guicll g aricdide S SRIAMT e Iofedl dTS[ell 45" dosd Yral DTl oliell 1T ferear
1T BT DI S 3RYeT ?
Harshali was walking towards North west side. After turning her right by 45° she started to walk again.
Which direction falls to her left?
1.9 [East] 2. 9feas [West] 3.9 [SouthWest] 4. 32T [North East]
U.44  SURI3:15d]. TSI ARIDICT d FAfedhIer A fhal ST I TR glge ?
What will be the measure of an angle between the hour hand and minute hand of a clock at 3:15 pm.
1.0° 2.90° 3.7% 4.82%"
T.45 IS T Gl JredT ATSred] gt sRist 59 a¥ 3RIT aoTaTeh 25 a¥ 3M1g IR JlTed] ST dasl JATSd 9
fepeft ?
Addition of the ages of mother and son is 59 years and subtraction is 25 years today. What will be the
age of mother at the time of her son’s birth?
1.209Y [20 years] 2.257% [25 years] 3.27 3T [27 years] 4.309Y [30 years]
. 46 ST 3Mahciiciie] epToTiT HeT fehelt 2
How many triangles are there in the figure alongside?
1.13 2.1 3.10 4.12
T 47 42 72 110 144
7 ]3| 9|4 1|5 | 2] 6|
1.13 2.14 3.10 4.12
ForQ.48 & 50
SISiT dlef0 3 —_ g [Marathi Speakers]
[English Speakers] bb :
< foal e
[Hindi Speakers]
¥. 48 RIS T S A1 QR T SieAun=ielt TRl SR SaveT fapett 2
Maximum number of Marathi and Hindi both language speakers is -------
1.8 2.17 3.15 4.23
U.49  HRIS g fESt A1 gt o1 Sierun= fohelt safaa Syt dtetar ad ?
How many English speakers are there those can speak Marathi and Hindilanguages also?
1.19 2.16 3.21 4.9
9.50  fH QI AT Siera AUt efaadt e fohett ?

How many persons are there those can speak minimum two languages.
1.18 2.27 3.22 4.30

als als als afs als afs ofs
e o S SR SR SR
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